

# Virtual Element Method of the Allen-Cahn Equation

WANG Pei-zhen, TIAN Xu

(School of Mathematics and Statistics, North China University of Water Resources and Electric Power,  
Zhengzhou 450046, China)

**Abstract:** In this article, the virtual element method of the Allen-Cahn equation on a polygon grid is discussed in the fully discrete formulation. With the help of the energy projection operator, we give the corresponding error estimates in the  $L^2$  norm and  $H^1$  norm.

**Keywords:** The virtual element method; Allen-Cahn equation; Error estimation

**2000 MR Subject Classification:** 65N30, 65N15

**CLC number:** O242.21 **Document code:** A

**Article ID:** 1002-0462 (2023) 01-0020-10

**DOI:** 10.13371/j.cnki.chin.q.j.m.2023.01.002

## §1. Introduction

Allen-Cahn equation is an important model proposed by ALLEN and CAHN in [3] for describing the antiphase boundary motion in crystals. In materials science, it is often used in the study of fluid dynamics and reaction-diffusion problems, but also widely used in the competition and repulsion of biological populations, river bed migration process.

We consider the following Allen-Cahn equation

$$\begin{cases} u_t - \varepsilon \Delta u + f(u) = 0, & (X, t) \in \Omega \times J, \\ u = 0, & (X, t) \in \partial\Omega \times J, \\ u(X, 0) = u_0, & X \in \Omega, \end{cases} \quad (1.1)$$

with the energy of

$$E(u) = \int_{\Omega} \left( \frac{\varepsilon}{2} |\nabla u|^2 + F(u) \right) dX,$$

where  $u$  represents the concentration of one of the two metallic components of the alloy,  $\varepsilon > 0$  represents the inter-facial width,  $\Omega \in \mathbb{R}^2$  denotes a bounded convex polygonal domain with

---

**Received date:** 2023-01-27

**Foundation item:** Supported by National Natural Science Foundation of China (Grant No. 11901197); Young Teacher Foundation of Henan Province (Grant No. 2021GGJS080).

**Biographies:** WANG Pei-zhen, (1982-), female, native of Nanyang, Henan, associate professor of North China University of Water Resources and Electric Power, engages in finite element method; TIAN Xu (1997-), male, native of Xuchang, Henan, graduate student of North China University of Water Resources and Electric Power, engages in finite element method; Corresponding author WANG Pei-zhen: peizhen86@126.com.

boundary  $\partial\Omega$ . We shall use the notation  $n$  for a unit normal of an edge,  $J = [0, T]$ .  $f(u) = F'(u)$  where  $F(u) = (u^2 - 1)^2/4$  represents the energy potential. Obviously, the continuous function  $f(u)$  satisfies the Lipschitz condition.

The virtual element method (VEM) is a generalization of the classical finite element method to polygonal or polyhedral meshes. The main advantages of the virtual element method are the flexibility in mesh handing and the property of avoiding the explicit construction of the shape function. Conforming VEM was first introduced in [2, 16, 18]. Then many investigations have been conducted for VEM [1, 4, 6, 14, 15, 17, 20].

There are many excellent works on the convergent analysis for Allen-Cahn equation [5, 7–13, 19]. The main of this paper is to develop the first-order implicit-explicit scheme by the virtual element method for Allen-Cahn equation. The error estimates in the  $L^2$  norm and  $H^1$  norm are derived.

The arrangement of this paper is as follows: Section 2 gives the conforming virtual element space. Section 3 constructs the variational form and gives the fully discrete form. In Section 4, the error estimates for the  $L^2$  norm and  $H^1$  norm corresponding to the fully discrete scheme are presented.

In this paper, we adopt standard notations for the Lebesgue spaces  $L^p(\Omega)$ ,  $1 \leq p \leq \infty$  and the Sobolev Spaces  $H^s(\Omega)$ ,  $s \geq 0$  and their associated norms  $\|\cdot\|_{s,\Omega}$  and seminorms  $|\cdot|_{s,\Omega}$ . The Banach space of all  $L^p$  integrable functions  $\psi(t):[0, T] \rightarrow H^s(\Omega)$  with norm  $\|\psi\|_{L^p(H^s)} := \left(\int_0^T \|\psi\|_{s,\Omega}^p\right)^{1/p}$  for  $p \in [1, \infty)$  and standard modification at  $p = \infty$ . The generic positive constant will be denoted by  $C$ , which is independent of the mesh size  $h$ , but may depend on the size of  $\Omega$  and take different values at different places.

## §2. Conforming virtual element

Let  $T_h$  be a sequence of decompositions of  $\Omega$  into general polygons.  $h$  denotes the maximum of the diameters of the elements in  $T_h$ ,  $\varepsilon_h$  represents the set of edges,  $n(K)$  denotes the number of vertexes of element  $K$ . Let  $k \geq 1$  denote the "polynomial degree" of the methodology. For all  $K \in T_h$ , the augmented local space  $V^k(K)$  is defined by

$$V^k(K) = \{v \in H^1(K) \cap C^0(\partial K) : v|_e \in \mathbb{P}_k(e), \forall e \in \partial K, \Delta v \in \mathbb{P}_k(K)\}.$$

Similar to reference [15], we define the d.o.f. as

- Values of  $v$  at  $n(K)$  vertexes of  $K$ .
- Values of  $v$  at  $k-1$  uniformly spaced points on each edge  $e$ .
- All moments  $\int_K v p dx$ , for all  $p \in \mathbb{P}_{k-2}(K)$ .

We define the projection operator  $\Pi_{k,K}^\nabla: H^1(K) \rightarrow \mathbb{P}_k(K)$  by

$$\begin{aligned} a^K(\Pi_{k,K}^\nabla v, q) &= a^K(v, q), \quad \forall q \in \mathbb{P}_k(K), \\ P_0(\Pi_{k,K}^\nabla v) &= P_0 v, \end{aligned} \tag{2.1}$$

and  $a^K(u, v) := \int_K \nabla u \cdot \nabla v dx$ ,  $\forall u, v \in H^1(K)$ ,  $v(V_i)$  represents the value of  $v$  at the  $i$ th vertex  $V_i$ , where  $P_0$  is defined as follows:

$$P_0 v := \frac{1}{n(K)} \sum_{i=1}^{n(K)} v(V_i), \quad k=1,$$

$$P_0 v := \frac{1}{|K|} \int_K v dx, \quad k > 1,$$

the  $L^2$  projection  $\Pi_{k,K}^0 : L^2(K) \rightarrow \mathbb{P}_k(K)$  by

$$(v - \Pi_{k,K}^0 v, q)_K = 0, \quad \forall q \in \mathbb{P}_k(K). \quad (2.2)$$

Then, the virtual element local space is defined by

$$W^k(K) = \{\omega \in V^k(K) : \int_K (\Pi_{k,K}^\nabla \omega) q dx = \int_K \omega q dx, \quad q \in \mathbb{P}_k / \mathbb{P}_{k-2}(K), \quad K \in T_h\},$$

the subspace  $\mathbb{P}_k / \mathbb{P}_{k-2}(K)$  consists of the polynomials of  $k$  degree  $L^2$  orthogonal to the  $k-2$  degree polynomial space on  $K$ .

The global virtual element space  $W_h^k$  of order  $k$  is defined by

$$W_h^k = \{v_h \in H_0^1(\Omega) : v_h|_K \in W^k(K), \quad \forall K \in T_h\}.$$

The global discrete bilinear forms  $a_h(\cdot, \cdot) : W_h^k \times W_h^k \rightarrow R$  and  $m_h(\cdot, \cdot) : W_h^k \times W_h^k \rightarrow R$  are defined as

$$a_h(v, w) = \sum_{K \in T_h} a_h^K(v, w), \quad \forall v, w \in W_h^k,$$

$$m_h(v, w) = \sum_{K \in T_h} m_h^K(v, w), \quad \forall v, w \in W_h^k,$$

$a_h^K(\cdot, \cdot)$  and  $m_h^K(\cdot, \cdot)$  are local computable discrete bilinear forms, we defined them as follows

$$a_h^K(v, w) = a^K(\Pi_{k,K}^\nabla v, \Pi_{k,K}^\nabla w) + S^K((I - \Pi_{k,K}^\nabla)v, (I - \Pi_{k,K}^\nabla)w),$$

$$m_h^K(v, w) = (\Pi_{k,K}^0 v, \Pi_{k,K}^0 w)_K + |K| S^K((I - \Pi_{k,K}^0)v, (I - \Pi_{k,K}^0)w).$$

$S^K(\cdot, \cdot)$  are symmetric bilinear forms

$$S^K(v, w) = \sum_{i=1}^{N^K} X_i(v) X_i(w),$$

where  $N^K = \dim W^k(K)$ ,  $X_i(v)$  is the  $i$ -th local degree of freedom on the element  $K$ .

Consistency property:  $\forall p \in \mathbb{P}_k(K)$  and  $v \in W^k(K)$

$$a_h^K(p, v) = a^K(p, v) \quad \text{and} \quad m_h^K(p, v) = (p, v)_K.$$

Stability: There exist four positive constants  $\alpha_*$ ,  $\alpha^*$ ,  $\beta_*$ ,  $\beta^*$ , independent of  $h$ ,  $\forall v \in W^k(K)$

$$\alpha_* a^K(v, v) \leq a_h^K(v, v) \leq \alpha^* a^K(v, v),$$

$$\beta_* m_h^K(v, v) \leq m_h^K(v, v) \leq \beta^* m_h^K(v, v).$$

### §3. Fully discrete scheme

The variational formulation of the problem (1.1) reads as

$$\begin{cases} find: u \in L^2(0, T, H^1(\Omega)), \\ m(u_t, v) + \varepsilon a(u, v) + (f(u), v) = 0, \quad (X, t) \in \Omega \times J, \\ u(0) = u_0. \end{cases} \quad (3.1)$$

In order to be convenient for showing the fully discrete formulation, we set  $\tau = T/N$ ,  $t_n = n\tau$ . Then we introduce the backward Euler method of (3.1),

$$\begin{cases} m_h(\frac{u_h^n - u_h^{n-1}}{\tau}, v_h) + \varepsilon a_h(u_h^n, v_h) + (f_h(u_h^n), v_h) = 0, \quad \forall v_h \in W_h^k, \\ u_h^0 = I_h u^0, \end{cases} \quad (3.2)$$

where  $I_h$  is the interpolation operator in  $W_h^k$ . Similar to [1], for computation of nonlinear force function, on each element  $K$ , we define  $f_h(u_h^n, t)$  as follows:

$$f_h(u_h^n, t)|_K := \Pi_{k,K}^0(f(\Pi_{k,K}^0 u_h^n, t)) \text{ on each } K \in T_h, \text{ for a.e. } t \in [0, T].$$

One needs to solve a nonlinear system at each time step and this would be a tedious job. The possible remedy is to linearize the right-hand side, that is, replace  $(f_h(u_h^n), v_h)$  by  $(f_h(u_h^{n-1}), v_h)$  in Equation (3.2)

$$\begin{cases} m_h(\frac{u_h^n - u_h^{n-1}}{\tau}, v_h) + \varepsilon a_h(u_h^n, v_h) + (f_h(u_h^{n-1}), v_h) = 0, \quad \forall v_h \in W_h^k, \\ u_h^0 = I_h u^0. \end{cases} \quad (3.3)$$

From [9], we know this scheme is stable.

**Lemma 3.1.** [20] *The energy projection operator  $P^h: H_0^1(\Omega) \rightarrow W_h^k$  defined as*

$$a_h(P^h u, v_h) = a(u, v_h), \quad \forall v_h \in W_h^k.$$

$\forall u \in H^{k+1}(\Omega) \cap H_0^1(\Omega)$ , it holds that

$$|u - P^h u|_1 \leq Ch^k |u|_{k+1}, \quad (3.4)$$

$$||u - P^h u||_0 \leq Ch^{k+1} |u|_{k+1}. \quad (3.5)$$

### §4. Error estimation of the Allen-Cahn equation

#### 4.1. Error estimation of $L^2$ norm

**Theorem 4.1.** *Let  $u^n = u(\cdot, t_n)$  be the solution of problem (3.1) and let  $u_h(\cdot, t_n) = u_h^n$  be the solution of problem (3.3). Then there exists a positive constant  $C$  independent of  $h$ , for all  $t \in [0, T]$  we have*

$$\|u_h^n - u(\cdot, t_n)\|_0$$

$$\leq C \|u_h^0 - u_0\|_0 + C\tau \left( \|u_{tt}\|_{L^1(0,t_n;L^2(\Omega))} + \|u_t\|_{L^\infty(0,t_n;L^2(\Omega))} \right) \\ + Ch^{k+1} \left( |u_0|_{k+1} + |u_t|_{L^1(0,t;H^{k+1}(\Omega))} + \max_{1 \leq j \leq n} |u(t_j)|_{k+1} + \max_{1 \leq j \leq n} |f(u(t_j), t_j)|_{k+1} \right).$$

**Proof.** We set

$$u_h^n - u(\cdot, t_n) = [u_h^n - P^h u(\cdot, t_n)] + [P^h u(\cdot, t_n) - u(\cdot, t_n)] = A^n + B^n. \quad (4.1)$$

Utilizing (3.5), we obtain

$$\|B^n\|_0 = \|P^h u(\cdot, t_n) - u(\cdot, t_n)\|_0 \leq Ch^{k+1} |u(\cdot, t_n)|_{k+1} \\ \leq Ch^{k+1} (|u(\cdot, 0)|_{k+1} + \int_0^{t_n} |u_t(\cdot, s)|_{k+1} dx) \\ = Ch^{k+1} (|u_0|_{k+1} + |u_t|_{L^1(0,t;H^{k+1}(\Omega))}). \quad (4.2)$$

It is easy to observe that

$$m_h \left( \frac{A^n - A^{n-1}}{\tau}, v_h \right) + \varepsilon a_h(A^n, v_h) \\ = m_h \left( \frac{u_h^n - P^h u(\cdot, t_n) - u_h^{n-1} + P^h u(\cdot, t_{n-1})}{\tau}, v_h \right) + \varepsilon a_h(u_h^n - P^h u(\cdot, t_n), v_h) \\ = m_h \left( \frac{u_h^n - u_h^{n-1}}{\tau}, v_h \right) - m_h \left( \frac{P^h u(\cdot, t_n) - P^h u(\cdot, t_{n-1})}{\tau}, v_h \right) + \varepsilon a_h(u_h^n, v_h) - \varepsilon a_h(P^h u(\cdot, t_n), v_h) \\ = [m_h \left( \frac{u_h^n - u_h^{n-1}}{\tau}, v_h \right) + \varepsilon a_h(u_h^n, v_h)] - m_h \left( \frac{P^h u(\cdot, t_n) - P^h u(\cdot, t_{n-1})}{\tau}, v_h \right) - \varepsilon a_h(u(\cdot, t_n), v_h) \\ = -(f_h(u_h^{n-1}, t_{n-1}), v_h) - m_h \left( \frac{P^h u(\cdot, t_n) - P^h u(\cdot, t_{n-1})}{\tau}, v_h \right) + (f(u^n, t_n), v_h) + (u_t(\cdot, t_n), v_h) \\ = (f(u^n, t_n) - f_h(u_h^{n-1}, t_{n-1}), v_h) + (u_t(\cdot, t_n), v_h) - m_h \left( \frac{P^h u(\cdot, t_n) - P^h u(\cdot, t_{n-1})}{\tau}, v_h \right) \\ =: \mathcal{I}(v_h) + \mathcal{II}(v_h). \quad (4.3)$$

The bound for  $\mathcal{I}(v_h)$  is followed using Lipschitz continuity of  $f$  with respect to  $u$  and standard approximation property of  $L^2$  projection operator, references [1],

$$\mathcal{I}(v_h) \leq C (\|u_h^{n-1} - u(\cdot, t_n)\|_0 + h^{k+1} |f(u(t_n), t_n)|_{k+1} + h^{k+1} |u(\cdot, t_n)|_{k+1}) \|v_h\|_0 \\ =: C\alpha^n \|v_h\|_0. \quad (4.4)$$

The second term  $\mathcal{II}(v_h)$  can be estimated by the consistency and stability of the bilinear form

$$\mathcal{II}(v_h) = \sum_{k \in T_h} (u_t(\cdot, t_n), v_h)_K - m_h^K \left( \frac{P^h u(\cdot, t_n) - P^h u(\cdot, t_{n-1})}{\tau}, v_h \right) \\ = \sum_{k \in T_h} [(u_t(\cdot, t_n) - \frac{u(\cdot, t_n) - u(\cdot, t_{n-1})}{\tau}, v_h)_K \\ + (\frac{u(\cdot, t_n) - u(\cdot, t_{n-1})}{\tau} - \frac{\Pi_{k,K}^0(u(\cdot, t_n) - u(\cdot, t_{n-1}))}{\tau}, v_h)_K \\ + m_h^K (\frac{\Pi_{k,K}^0(u(\cdot, t_n) - u(\cdot, t_{n-1}))}{\tau} - \frac{P^h u(\cdot, t_n) - P^h u(\cdot, t_{n-1})}{\tau}, v_h)]$$

$$\begin{aligned}
&\leq C \|u_t(\cdot, t_n) - \frac{u(\cdot, t_n) - u(\cdot, t_{n-1})}{\tau}\|_0 \\
&\quad + \frac{1}{\tau} \|u(\cdot, t_n) - u(\cdot, t_{n-1}) - \Pi_{k,K}^0(u(\cdot, t_n) - u(\cdot, t_{n-1}))\|_0 \\
&\quad + \frac{1}{\tau} \|\Pi_{k,K}^0(u(\cdot, t_n) - u(\cdot, t_{n-1})) - P^h(u(\cdot, t_n) - u(\cdot, t_{n-1}))\|_0 \|v_h\|_0 \\
&\leq \frac{C}{\tau} [\|\tau u_t(\cdot, t_n) - (u(\cdot, t_n) - u(\cdot, t_{n-1}))\|_0 + h^{k+1} |u(\cdot, t_n) - u(\cdot, t_{n-1})|_{k+1} \|v_h\|_0] \\
&=: \frac{C}{\tau} (\beta^n + \gamma^n) \|v_h\|_0.
\end{aligned} \tag{4.5}$$

Recalling the inequality (4.3) and setting  $v_h = A^n$ , we have

$$\begin{aligned}
m_h\left(\frac{A^n - A^{n-1}}{\tau}, A^n\right) + \varepsilon a_h(A^n, A^n) &= \mathcal{I}(A^n) + \mathcal{II}(A^n) \\
&\leq \frac{C}{\tau} (\tau \alpha^n + \beta^n + \gamma^n) \|A^n\|_0.
\end{aligned} \tag{4.6}$$

As  $a_h(A^n, A^n) \geq 0$ , we have

$$m_h(A^n, A^n) \leq C(\tau \alpha^n + \beta^n + \gamma^n) \|A^n\|_0 + m_h(A^{n-1}, A^n).$$

Then

$$\|A^n\|_0^2 = m_h(A^n, A^n) \leq m_h(A^{n-1}, A^n) + C(\tau \alpha^n + \beta^n + \gamma^n) \|A^n\|_0.$$

We can obtain

$$\|A^n\|_0 \leq C \|A^0\|_0 + C \sum_{j=1}^n (\tau \alpha^j + \beta^j + \gamma^j). \tag{4.7}$$

By using (3.5), we obtain

$$\begin{aligned}
\|A^0\|_0 &= \|u_h(\cdot, 0) - P^h u(\cdot, 0)\|_0 \\
&= \|u_h(\cdot, 0) - u_0 + u_0 - P^h u(\cdot, 0)\|_0 \\
&\leq C(\|u_h^0 - u_0\| + h^{k+1} |u_0|_{k+1}).
\end{aligned} \tag{4.8}$$

Further, we have

$$\begin{aligned}
\tau \sum_{j=1}^n \alpha^j &\leq C h^{k+1} \max_{1 \leq j \leq n} |f(u(t_j), t_j)|_{k+1} + C h^{k+1} \max_{1 \leq j \leq n} |u(t_j)|_{k+1} + C \tau \|u_t\|_{L^\infty(0, t_n, L^2(\Omega))} \\
&\quad + C h^{k+1} (|u_0|_{k+1} + |u_t|_{L^1(0, t; H^{k+1}(\Omega))}) + C \|u_h^0 - u_0\|_0.
\end{aligned} \tag{4.9}$$

For  $\beta^j$ , we have

$$\begin{aligned}
\beta^j &= \|u(\cdot, t_j) - u(\cdot, t_{j-1}) - \tau u_t(\cdot, t_j)\|_0 \\
&= \left\| - \int_{t_{j-1}}^{t_j} (s - t_{j-1}) u_{tt}(\cdot, s) ds \right\|_0 \\
&\leq \int_{t_{j-1}}^{t_j} \|u_{tt}(\cdot, s)\|_0 (s - t_{j-1}) ds \leq \tau \int_{t_{j-1}}^{t_j} \|u_{tt}(\cdot, s)\|_0 ds,
\end{aligned}$$

$$\sum_{j=1}^n \beta^j \leq \tau \int_0^{t_n} \|u_{tt}(\cdot, s)\|_0 ds = \tau \|u_{tt}\|_{L^1(0, t_n; L^2(\Omega))}. \quad (4.10)$$

For  $\gamma^j$ , it holds

$$\begin{aligned} \gamma^j &= h^{k+1} |u(\cdot, t_n) - u(\cdot, t_{n-1})|_{k+1} \\ &= h^{k+1} \left| - \int_{t_{j-1}}^{t_j} u_t(\cdot, s) ds \right|_{k+1} \\ &\leq h^{k+1} \int_{t_{j-1}}^{t_j} |u_t(\cdot, s)|_{k+1} ds, \\ \sum_{j=1}^n \gamma^j &\leq h^{k+1} \int_0^{t_n} |u_t(\cdot, s)|_{k+1} ds = \|u_t\|_{L^1(0, t_n; H^{k+1}(\Omega))}. \end{aligned} \quad (4.11)$$

Combining (4.7)-(4.11) and (4.2), we complete the proof.  $\square$

#### 4.2. Error estimation of $H^1$ norm

**Theorem 4.2.** Let  $u^n = u(\cdot, t_n)$  be the solution of problem (3.1) and let  $u_h(\cdot, t_n) = u_h^n$  be the solution of problem (3.3). Then there exists a positive constant  $C$  independent of  $h$ , for all  $t \in [0, T]$  we have

$$\begin{aligned} &|u_h^n - u(\cdot, t_n)|_{1,h} \\ &\leq C |u_h^0 - u_0|_1 + \frac{C}{\sqrt{\varepsilon}} \left( \tau \|u_{tt}\|_{L^2(0, t_n; L^2(\Omega))} + \tau \|u_t\|_{L^\infty(0, t_n; L^2(\Omega))} \right) \\ &\quad + \frac{C}{\sqrt{\varepsilon}} h^k (|u_0|_{k+1} + \|u_t\|_{L^1(0, t_n; H^{k+1}(\Omega))} + h \|u_t\|_{L^2(0, t_n; H^{k+1}(\Omega))}) \\ &\quad + h \max_{1 \leq j \leq n} |u(t_j)|_{k+1} + h \max_{1 \leq j \leq n} |f(u(t_j), t_j)|_{k+1}. \end{aligned}$$

**Proof.** Similar to the proof of Theorem 4.1, substituting (4.4) and (4.5) into (4.3)

$$m_h \left( \frac{A^n - A^{n-1}}{\tau}, v_h \right) + \varepsilon a_h(A^n, v_h) = \mathcal{I}(v_h) + \mathcal{II}(v_h) \leq \frac{C}{\tau} (\tau \alpha^n + \beta^n + \gamma^n) \|v_h\|_0,$$

and set  $v_h = \frac{A^n - A^{n-1}}{\tau}$ , we can get

$$\begin{aligned} &m_h \left( \frac{A^n - A^{n-1}}{\tau}, \frac{A^n - A^{n-1}}{\tau} \right) + \varepsilon a_h \left( A^n, \frac{A^n - A^{n-1}}{\tau} \right) \\ &\leq \frac{C}{\tau} (\tau \alpha^n + \beta^n + \gamma^n) \left\| \frac{A^n - A^{n-1}}{\tau} \right\|_0. \end{aligned} \quad (4.12)$$

Observing

$$\begin{aligned} a_h \left( A^n, \frac{A^n - A^{n-1}}{\tau} \right) &= \frac{1}{\tau} (a_h(A^n, A^n) - a_h(A^n, A^{n-1})) \\ &= \frac{1}{\tau} (\|A^n\|_1^2 - a_n(A^n, A^{n-1})) \\ &\geq \frac{1}{\tau} (\|A^n\|_1^2 - \|A^n\|_1 \|A^{n-1}\|_1) \end{aligned} \quad (4.13)$$

$$\begin{aligned}
&\geq \frac{1}{\tau} (\|A^n\|_1^2 - \frac{1}{2}\|A^n\|_1^2 - \frac{1}{2}\|A^{n-1}\|_1^2) \\
&= \frac{1}{2\tau} (\|A^n\|_1^2 - \|A^{n-1}\|_1^2),
\end{aligned}$$

and the stability property of the bilinear form  $m_h(\cdot, \cdot)$ , enable us to write

$$m_h\left(\frac{A^n - A^{n-1}}{\tau}, \frac{A^n - A^{n-1}}{\tau}\right) \geq \beta_* \left\| \frac{A^n - A^{n-1}}{\tau} \right\|_0^2. \quad (4.14)$$

Then, we use (4.13) and (4.14) to obtain

$$m_h\left(\frac{A^n - A^{n-1}}{\tau}, \frac{A^n - A^{n-1}}{\tau}\right) + \varepsilon a_h\left(A^n, \frac{A^n - A^{n-1}}{\tau}\right) \geq \beta_* \left\| \frac{A^n - A^{n-1}}{\tau} \right\|_0^2 + \frac{\varepsilon}{2\tau} (\|A^n\|_1^2 - \|A^{n-1}\|_1^2),$$

using (4.12), we get

$$\begin{aligned}
&\beta_* \left\| \frac{A^n - A^{n-1}}{\tau} \right\|_0^2 + \frac{\varepsilon}{2\tau} (\|A^n\|_1^2 - \|A^{n-1}\|_1^2) \\
&\leq \frac{C}{\tau} (\tau\alpha^n + \beta^n + \gamma^n) \left\| \frac{A^n - A^{n-1}}{\tau} \right\|_0 \\
&\leq \frac{C}{\tau^2} (\tau\alpha^n + \beta^n + \gamma^n)^2 + \left\| \sqrt{\beta_*} \frac{A^n - A^{n-1}}{\tau} \right\|_0^2 \\
&\leq \frac{C}{\tau^2} (\tau^2(\alpha^n)^2 + (\beta^n)^2 + (\gamma^n)^2) + \beta_* \left\| \frac{A^n - A^{n-1}}{\tau} \right\|_0^2,
\end{aligned}$$

which leads to

$$\|A^n\|_1^2 \leq \|A^0\|_1^2 + \frac{C}{\tau\varepsilon} \sum_{j=1}^n (\tau^2(\alpha^j)^2 + (\beta^j)^2 + (\gamma^j)^2),$$

together with the stability of  $a_h(\cdot, \cdot)$  implies

$$|A^n|_1^2 \leq |A^0|_1^2 + \frac{C}{\tau\varepsilon} \sum_{j=1}^n (\tau^2(\alpha^j)^2 + (\beta^j)^2 + (\gamma^j)^2). \quad (4.15)$$

Similar to (4.8)-(4.11), we have

$$\begin{aligned}
|A^0|_1 &= |u(\cdot, 0) - u_h(\cdot, 0)|_1 + |u(\cdot, 0) - P^h u(\cdot, 0)|_1 \\
&\leq |u_h^0 - u_0|_1 + Ch^k |u_0|_{k+1},
\end{aligned} \quad (4.16)$$

$$\begin{aligned}
\tau^2 \sum_{j=1}^n (\alpha^j)^2 &\leq \tau h^{2(k+1)} \max_{1 \leq j \leq n} |f(u(t_j), t_j)|_{k+1}^2 + \tau h^{2(k+1)} \max_{1 \leq j \leq n} |u(t_j)|_{k+1}^2 \\
&\quad + \tau^3 \|u_t\|_{L^\infty(0, t_n, L^2(\Omega))}^2 + \tau h^{2k} |u_0|_{k+1}^2 + \tau h^{2k} \|u_t\|_{L^1(0, t; H^{k+1}(\Omega))}^2,
\end{aligned} \quad (4.17)$$

$$\begin{aligned}
\sum_{j=1}^n (\beta^j)^2 &\leq \tau^3 \sum_{j=1}^n \int_{t_{j-1}}^{t_j} \|u_{tt}(\cdot, s)\|^2 ds \\
&= \tau^3 \int_0^{t_n} \|u_{tt}(\cdot, s)\|^2 ds = \tau^3 \|u_{tt}\|_{L^2(0, t_n; L^2(\Omega))}^2,
\end{aligned} \quad (4.18)$$



$$\begin{aligned}
\sum_{j=1}^n (\gamma^j)^2 &\leq \tau h^{2(k+1)} \sum_{j=1}^n \int_{t_{j-1}}^{t_j} |u_t(\cdot, s)|_{k+1}^2 ds \\
&= \tau^{2(k+1)} \int_0^{t_n} |u_t(\cdot, s)|_{k+1}^2 ds = \tau h^{2(k+1)} \|u_t\|_{L^2(0, t_n; H^{k+1}(\Omega))}^2,
\end{aligned} \tag{4.19}$$

we substitute (4.16)-(4.19) into (4.15) to obtain

$$\begin{aligned}
|A^n|_1 &\leq |u_h^0 - u_0|_1 + \frac{C}{\sqrt{\varepsilon}} (h^{k+1} \max_{1 \leq j \leq n} |f(u(t_j), t_j)|_{k+1} \\
&\quad + h^{k+1} \max_{1 \leq j \leq n} |u(t_j)|_{k+1} + \tau \|u_t\|_{L^\infty(0, t_n; L^2(\Omega))}) \\
&\quad + \frac{C}{\sqrt{\varepsilon}} h^k (|u_0|_{k+1} + |u_t|_{L^1(0, t; H^{k+1}(\Omega))}) + \tau \|u_{tt}\|_{L^2(0, t_n; L^2(\Omega))} + \tau h^{k+1} \|u_t\|_{L^2(0, t_n; H^{k+1}(\Omega))}).
\end{aligned} \tag{4.20}$$

By (4.1), we have

$$\begin{aligned}
|u_h^n - u(\cdot, t_n)|_1 &= |[u_h^n - P^h u(\cdot, t_n)] + [P^h u(\cdot, t_n) - u(\cdot, t_n)]|_1 \\
&\leq |A^n|_1 + |B^n|_1.
\end{aligned} \tag{4.21}$$

The estimate of  $B^n$  is given by

$$|B^n|_1 \leq C h^k (|u_0|_{k+1} + \|u_t\|_{L^2(0, t_n; H^{k+1}(\Omega))}). \tag{4.22}$$

Combining (4.20)-(4.22) completes the proof of the theorem.  $\square$

## [References]

- [1] ADAK D, NATARAJAN E, KUMAR S. Convergence analysis of virtual element methods for semilinear parabolic problems on polygonal meshes[J]. Numer. Meth. Part. D. E., 2019, 35(1): 222-245.
- [2] AHMAD B, ALSAEDI A, BREZZI F, MARINI L D, RUSSO A. Equivalent projectors for virtual element methods[J]. Comput. Math. Appl., 2013, 66: 376-391.
- [3] ALLEN S M, CAHN J W. A microscopic theory for antiphase boundary motion and its application to antiphase domain coarsening[J]. Acta Metall., 1979, 27(6): 1085-1095.
- [4] BENEDETTO M F, BERRONE S, PIERACCINI S. The virtual element method for discrete fracture network simulations[J]. Comput. Method. Appl. M., 2014, 280(10): 135-156.
- [5] BENES M, CHALUPECKY V, MIKULA K. Geometrical image segmentation by the Allen-Cahn equation[J]. Appl. Numer. Math., 2004, 51(2): 187-205.
- [6] BREZZI F, MARINI L D. Virtual element methods for plate bending problems[J]. Comput. Method. Appl. M., 2013, 253: 455-462.
- [7] CHEN Y, HUANG Y, YI N. ASCR-based error estimation and adaptive finite element method for the Allen-Cahn equation[J]. Comput. Math. Appl., 2019, 78(1): 204-223.
- [8] FENG X, PROHL A. Numerical analysis of the Allen-Cahn equation and approximation for mean curvature flows[J]. Numer. Math., 2003, 94(1): 33-65.
- [9] FENG X, SONG H, TANG T. Nonlinear stability of the implicit-explicit methods for the Allen-Cahn equation[J]. Inverse Probl. Imag., 2013, 7(3): 679-695.
- [10] KIM J, JEONG D, YANG S D. A finite difference method for a conservative Allen-Cahn equation on non-flat surfaces[J]. J. Comput. Phys., 2017, 334: 170-181.
- [11] LI C, HUANG Y, YI N. An unconditionally energy stable second order finite element method for solving the Allen-Cahn equation[J]. J. Comput. Appl. Math., 2019, 353: 38-48.

- 
- [12] LIU Q, ZHANG K, WANG Z. A two-level finite element method for the Allen-Cahn equation[J]. *Int. J. Comput. Math.*, 2019, 96(1): 158-169.
  - [13] SHEN J, YANG X. Numerical approximations of Allen-Cahn and Cahn-Hilliard equations[J]. *Discrete Contin. Dyn. Syst.*, 2010, 28(4): 1669-1691.
  - [14] VACCA G. Virtual element methods for hyperbolic problems on polygonal meshes[J]. *Comput. Math. Appl.*, 2017, 74: 882-898.
  - [15] VACCA G, VEIGA L B D. Virtual element methods for parabolic problems on polygonal meshes[J]. *Comput. Math. Appl.*, 2015, 31(6): 2110-2134.
  - [16] VEIGA L B D, BREZZI F, CANGIANI A. Basic principles of virtual element methods[J]. *Math. Model. Meth. Appl. S.*, 2012, 23: 199-214.
  - [17] VEIGA L B D, BREZZI F, MARINI L D. Virtual elements for linear elasticity problems[J]. *SIAM J. Numer. Anal.*, 2013, 51: 794-812.
  - [18] VEIGA L B D, BREZZI F, MARINI L D. The hitchhiker's guide to the virtual element method[J]. *Math. Model. Meth. Appl. S.*, 2014, 24(08): 1541-1573.
  - [19] ZHAI S, WENG Z, FENG X. Fast explicit operator splitting method and time-step adaptivity for fractional non-local Allen-Cahn model[J]. *Appl. Math. Model.*, 2015, 40(2): 1315-1324.
  - [20] ZHAO J, ZHANG B, ZHU X. The nonconforming virtual element method for parabolic problems[J]. *Appl. Numer. Math.*, 2019, 143: 97-111.